Grammar Worksheet Russian through Propaganda, Book 1

Day 29 giving commands with the imperative

1. “Easy” imperatives, without the extra step

Follow the guidelines to create Tel imperatives. We’ll begin with verbs that don’t require the “extra step.”

~iniinitive [l o form [l remove the encing aod [l

penatb Al 9 AenawT 9 pena- (vowel) o n 9 penan! penaure!

paboTats Al OHU: ThI: !
pucoeate OBA OHU; Thl; !
umeTb EN OHM: Th: !
cnetb ON OHU: ThI: !
OTKpbLITH OV OHU: Thl: !
OTKpPbIBATb Al OHW: Thbl: !

2. “Hard” imperatives, with the extra step

If the stem ends in a consonant, then an extra step is required: what is the stress in the s1 form? If the verb’s infinitive is more than two
syllables, then keep in mind. if the infinitive is end-stressed, we know that the s form will be too. Give the Tbl form only.

~infinitive [l onw form [l remove the ending |l ook at a-form stress [l add

nucatb A % nNMWwyT & nuw- (consonant) $ nuwy (end-stress) &= U $ nuwm! nuwure!
oTBETUTb /1 ® OTBETAT 9 OTBET- (Consonant) # oTBeuy (stem-stress) &= b 9§ oTBeTb! oTtBeTbTeE!
nokasarb A OHW: s Tbl: !
nnakate A OHU: a: Thl: !
BepuTb U OHW: a: Thl: !
cnoetb E OHU: a: Thl: !
OTAOXHYTb HY OHU: a: Thl: !
nepectarb H OHW: a: Tbl: !
XnTb B OHU: a: Thl: !
»xoatb N/sA OHW: a: Thl: !
6patb n/sA OHW: a: Thl: !
B3ATb OHU: a: Thl: !

3. Irregular imperatives

The step-by-step method doesn’t work for a very few verbs. Give the irregular imperative forms for these verbs.

nnTb b Tbl: Bbl: !
BbIMTb b Thbl: Bbl: !
ObITb Tbl: Bbl: !
3abbITb Tbl: Bbl: !

4. ABAU verbs also don’t follow the step-by-step method

Give the TbI imperatives only for these aspectual pairs that include one ABAM-type verb.

nasate ABAI / pate: /

npoaasarb ABA / npoaark: /

nepecTtasaTb ABAI / nepectatb H: /




